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l. IHacmopT KOMIUIEKTA KOHTPOJIbHO-OLEHOYHBIX CPEACTB

B  pesyabrare ocBoeHUs y4yeOHOW  AUCHUIUIMHBI ~ MHOCTpaHHBIA  S3BIK
oOy4aronuiicss JoimkeH oonanate npegycMorpeHHbiMu @I'OC 1o crenuanbHOCTH
CIIO 23.02.03 TexHuueckoe OOCTY>KMUBaHHME M PEMOHT aBTOMOOMIBHOTO
TpaHcHopTa o0IUMHU U TPO(PECCHOHATTBHBIMU KOMITETEHIIUSMH:

OK 1. [loHumaTh CYHIHOCTh M COLMAIBHYIO 3HAYUMOCTh CBOEH Oynymiei
npodeccuu, MPosIBISTH K HEW yCTONUMBBIA UHTEPEC.

OK 2. Opranu3oBbiBaTh COOCTBEHHYIO JI€ATEIBHOCTh, ONPEICNISATh METOIABl U
CI0COOBI BBITIOJIHEHUST TIPO(ECCUOHATBHBIX 33/a4, OLEHUBATh X 3(PHEKTUBHOCTH
Y Ka4yecTBO.

OK 3. Pemrath  mpoOJyieMbl, OIICHWBAaTH PHUCKA W TNPUHUMATh  PEIICHHS
B HECTAaHAAPTHBIX CUTyalUSX.

OK 4. Ocy1iecTBasiTh MOUCK, aHATU3 U OIIEHKY MH(OpMaIMU, HEOOXOIUMOMN ISt
IIOCTAHOBKA M pEIIeHUs NpoPEeCcCHOHAIBHBIX 3a/ay, MNPO(PECCHOHAIBHOIO U
JUYHOCTHOTO Pa3BUTHSL.

OK 5. HUcnonwszoBath WHGOPMAIMOHHO-KOMMYHUKAIIMOHHBIE TEXHOJOTHH TS
COBEpIICHCTBOBAaHUS TPO(HECCUOHATILHOM JEATEIBHOCTH.

OK 6. Pabotath B KOJJIEKTHBE M KOMaHzae, OOECHeuMBaTh €€ CIUIOYEHUE,
3¢ (HeKTUBHO O0LIATHCS C KOJIETaMU, PYKOBOJCTBOM, IOTPEOUTEIISIMH.

OK 7. CtaBuThH LICJIN, MOTHUBUPOBATH JICSITEIbHOCTh MOJYMHECHHBIX,
OpraHU30BbIBaTh M KOHTPOJHMPOBaTh HX pabOTy C TMpPUHATHEM Ha ceds
OTBETCTBEHHOCTH 32 PE3yJIbTaT BbIIOJIHEHUS 3aJaHHI.

OK 8. CaMOCTOSITEIBHO ONpenesaTh 3aAadu MpoheCCHOHATBHOTO U JTUYHOCTHOTO
pa3BUTHS, 3aHUMATHCSI CAMOOOPA30BaHUEM, OCO3HAHHO IJIAHUPOBAThH MOBBIIICHUE
KBaJTU(DUKAIIAH.

OK 9. BITh TOTOBBIM K CMEHE TEXHOJIOTHI B TPO(PECCHOHATIEHOM NESITEIHOCTH.

Y4eOHBIM TUTAHOM KOJUIEKA MPEeAyCMOTpEeHa MPOMEXKYTOUHAsl aTTeCTalus IO
yueOHON auciuruimHe MHocTpaHHBIM s3bIK B (popme auddepeHIupoBaHHBINA
3ayer.

I1. Pe3yJbTaThl OCBOCHUS Y4e€OHOM IMCHUIINHBI

B pesynbrare arrecTtalnuy OCYLIECTBISETCS KOMIUIEKCHAs IPOBEpPKa CIEAYIOIINX
YyMEHUW W 3HaHUM, KOTOopble  (opmMupyroT oOmme u MpodecCHOHAIbHBIC
KOMITETEHIINHN:

3HAHUSA:

1. Jlexcuueckuit (1200 — 1400 meKCMYECKHX €OUHUI]) U TPaMMATHYECKUIA
MUHUMYM, HEOOXOJMMBIN JJIsi YTCHHS W TepeBoaa (CO CIOBapeM) MHOCTPAHHBIX
TEKCTOB NMPO(GECCUOHATBHON HAIIPaBIECHHOCTH

yMeHMSI:

1. OOmarbcss (YCTHO Y NOUCBbMEHHO) Ha HHOCTPAaHHOM  SI3bIKE  Ha
npodeccCuOHaNbHBIE U TIOBCETHEBHBIE TEMBI;

2. [IlepeBomauth (CO clIOBapeM) HWHOCTPAHHBIE TEKCThl MPOQecCUOHATILHON
HaIpaBJIEHHOCTH;



3. CaMOCTOSTENBHO COBEPIIEHCTBOBATh YCTHYIO M MHUCbMEHHYIO P€Yb, IOMOJIHATh
CJIOBapHBIN 3ar1ac;

II1. ®opmMbI U METOABI OLICHUBAHUS

KoHTpoiib 1 o1leHKa 3HaHUM, YMEHUH, a TakkKe CHOPMUPOBAHHOCTh OOILIUX U
PO EeCCUOHANIBHBIX ~ KOMIIETEHIIUM OCYILECTBIISIIOTCSI C  MCHOJIb30BAHUEM
clieyromux (opM 1 METOJOB: TPOBEACHHS TECTUPOBAHMSI, BBIMIOJIHEHUS JIEKCUKO-
rpaMMaTHYECKUX 3aJaHuil, paboTbl C NPO(ECCHOHATBLHO OPUEHTUPOBAHHBIMU
TEKCTaMHU.

Omnenka OCBOCHMS JUCITUTUTIHBI peaycMaTpuBacT WCIIOJTh30BaHUE
HAKOMUTEILHONM  CHUCTEMBbI OIIEHWBAHMS TPH TPOMEKYTOYHOW aTTeCTallid H
nudpepeHInpOBaHHOM 3a4eTe.

IV. KoHTpPO/IbHO-0LIeHOYHBIE CPeACTBA AJIsl TEKYIIero KOHTPOJIA
Pasznea 1. Ctpassl n3y4yaemMoro s3bIKa
Tect Nel
Bapuanrt 1
3aganne Nel:

1. Ann never ... to work by bus.

a) go b) does go C) goes

2. Mary ... alot last year.

a) travels b) did travel c) travelled
3. She ... French at all.

a) not speaks b) doesn’t speak c) doesn’t speaking

4. This book ... five years ago.

a) write b) wrote C) was written
5. We ... this work tomorrow.

a) did b) will do c) done
3aganue Ne2:



1. I think the article ... tomorrow in the evening.

a) will translate b) will be translated
2. The city ... on the banks of the river.

a) Is situated b) situated

3. About 5 000 new houses ... last year.

a) were built b) are built

4. He ... to the theatre next month.

a) goes b) will go

5. Soldiers ... obey their commander’s orders.

a) can b) must

Bapuanr 2
3apanme Nel :

1. Soldiers ... obey their commander’s orders.
a) can b) must

2. ... I come in?

a) can b) must

3. I’'m afraid you ... everything once again.

a) must do b) have to do

4. ... you speak English?

a) may b) must

5. It was 10 o’clock. I ... leave.

a) must b) have to

3aganue Ne2:

c) will translated

C) are situated

c) built

c) went

C) may

C) may

C) may

c) can do

C) can

c) had to



1. ... I come in?

a) can b) must C) may
2. I’m afraid you ... everything once again.

a) must do b) have to do c) can do
3. ... you speak English?

a) may b) must C) can

4. Itwas 10 o’clock. I ... leave.

a) must b) have to c) had to
5. When [ was aboy I ... play football.

a) can b) must c) could

Tect Ne 2

Bapuanr 1

3aganus:

Bri0epuTte npaBUIIbHBII BAPUAHT.

1. The Australian continent is washed in the north by ....

a) the Arafura Sea b) the Irish Sea c) the North Sea

2. The land varies from high mountains to deep canyons in ....
a) Australia b) the USA c) the UK

3. The USA stretches from ... in the north to ... in the south.
a) Canada ... Mexico b) Mexico ... Canada c) Brazil ... Cuba
4. ... is the highest mountain in England and Wales.

a) Snowdon b) Elbrus c) Everest

5. No place in ... is more than 75 miles from the sea.

a) Great Britain b) the USA c) Australia

Bapuanr 2

3aganuda:

Bri0epuTte npaBUIbHBII BAPUAHT.

1. The centre of the Australian continent is taken by ....

a) the mountain ranges b) the deserts c) the plains



2. The chief rivers of Great Britain are ..., ....

a) the Avon, the Thames b) the Missouri, the Yukon c) the Murray, the Darling
3. ... 18 located to the south of Asia, between the Pacific and Indian oceans.

a) The USA b) Great Britain c) Australia

4. The southern parts of ... have warm temperatures year round, but the northern
parts have very cold winters.

a) Australia b) the UK c) the USA

5. ... 1s typical of the UK.

a) steady rainfall b) severe drought c¢) cold winter

Tect Ne 3

Bapuanr 1

3aganue:

L. IIpounraiite Boripocsl 1-4 u TekcThl, 0003HaUeHHbIE OykBaMu A-E. YcTanosure,
B KAKMX TEKCTaX MOYKHO HAUTH OTBET HA 3TU BONPOCKHI. OTBET Ha KaXbIil BOIPOC
MOYHO HalTH TOJILKO B OJJHOM TEKCTE. 3aHECUTE CBOM OTBETHI B TAOIHILY,
MPUBEACHHYIO HUXKE, IJI€ M0l HOMEPOM BOIPOCA BITUIIUTE COOTBETCTBYIOILYIO
OykBy. B 3aganun oguH TEKCT JIUIIHUM.

Where can tourists....

1. learn more about extreme sports?

2. see a country which is as large as America?

3. enjoy the most splendid view of the Niagara Falls?
4. have lunch at a sand dune?

A. Canada has an area of nearly ten million square kilometers. It is a country of
lakes. Since the building of the St. Lawrence Seaway the Great Lakes and the St.
Lawrence River form a great water way from the Atlantic to the heart of the
country. The Niagara Falls on the Niagara River between Lake Erie and Lake
Ontario are one of the most splendid sights in the world.

B. New Zealand is famous for its geysers, thermal springs, its national past time
rugby and extreme sports. It is a mountainous country. Most of North Island and
the south-west of South island have good forests of evergreen trees and large areas
are rich grasslands. Tourists are offered such extreme amusements as tramping
through virgin forest, rafting on rushing mountain rivers, jumping from helicopters
and bridges into precipices and water.



C. Australia is massive and very sparsely peopled: in size in rivals the USA, yet
it’s population is just over eighteen million. This is an ancient land, and often looks
it. In contrast, its cities — most of which were founded as recently as the mid
nineteenth century — express a youthful energy.

D. Indian people are very friendly and hospitable. | continued to travel in India at a
snail’s pace. The longer we were out in the desert, the more beautiful it grew, SO
peaceful and romantic as the land shifted from scrub bush to sand dunes to rocky
hills and back to sand dunes. Each day we could stop at a new sand dune for lunch.

E. Dubai (a land of sunrise) was once a part of a large desert. But now it is a green
island of everlasting summer, a centre of world entertainment, and a civilized city
in the United Arab Emirates. There are wonderful buildings of glass, skyscrapers,
peaceful fountains in the middle of flower gardens, and meadows with colorful
plants.

Bapuanr 2
3aganue:
Match the names of the famous British people (a-f) with the sentences (1-5).

1 | All the British admire that man. He was a brave and a
skillful admiral. He won the battle of Trafalgar. Sir Isaac
Newton

2 | The British called her “the Queen of people’s hearts”. She | b | Horatio
was well-known for her charity; she helped people with Nelson
dangerous diseases. At the age of 20 she married Prince
Charles and they had two sons.

3 | His name is well known all over the world. He acted at the | ¢ | Daniel Defoe
London theatre called “The Globe” and wrote tragedies,
historical plays, comedies and poetry. His plays are still
popular — not only in England but in the whole world.

4 | He is one of the greatest men in the history of science. He |d | William
was born in a small village in England in 1642, studied Shakespeare
mathematics and physics at Cambridge University. He




discovered the universal law of gravitation.

5 | He was a famous English writer of the eighteenth century. | e | Princess
He wrote his famous book when he was nearly 60 years Diana
old. His book was based on the real adventures of a sailor,
who had lived alone for four years on a desert island. For
this book he was called “the father of English prose”.

Tect Ne 4

Bapuant 1

3aganme Nel:

Bbi0epuTe npaBWJIbHbIN BAPUAHT.

1. The Australian continent is washed in the north by ....

a) the Arafura Sea b) the Irish Sea c) the North Sea

2. The land varies from high mountains to deep canyons in ....
a) Australia b) the USA c) the UK

3. The USA stretches from ... in the north to ... in the south.
a) Canada ... Mexico b) Mexico ... Canada c) Brazil ... Cuba
4. ... 1s the highest mountain in England and Wales.

a) Snowdon b) Elbrus c) Everest

5. No place in ... 1s more than 75 miles from the sea.

a) Great Britain b) the USA c) Australia

3apnanme Ne2: [Ipouuraiite nH(pOpMALUIO O CTYJEHTAX, TOJIBKO YTO MPHUEXABIINX
B JIETHIOIO 1IKoJy. [Togbepure mpaBuIbHBIN 3aT0JI0BOK JIJIsl K&XKI0M YacTH TEKCTa
13 MPEUI0KEHHBIX BAPUAHTOB!

A. Eating traditions

B. A treat and a song go together

C. A popular way of getting many presents
D. Holiday decoration business

E. Holiday food business

F. Cooking special holiday dishes

1. Many stores in the USA stock a large range of holiday house decorations for

a month before the holiday itself. For instance, on Thanksgiving Day they sell
pumpkins and leaves specially designed for adorning. As for Halloween, stores
offer flashlights, masks, and skeletons for decorating the gardens and for scaring
one’s guests. Thus, people alter the attire of their houses several times a year. The
wealthier families change not only the season’s outside decorations but even the

10




interior of their houses such as curtains, carpets and pictures.

2. On the Eve of Thanksgiving Day, most supermarkets are flooded with turkeys
selling at lower prices. Turkey producers have to decrease their price because they
must sell all the turkeys as soon as possible, otherwise they will still have them
when Christmas comes or even longer. Almost nobody buys turkey for an ordinary
meal (during the rest of the year). At Christmas, Americans also cook a turkey

or they can choose another traditional dish, e. g. roasted ham.

Bapuanr 2
3amanue Nel:
Boi0epuTe npaBWJIbHbIN BAPUAHT.

1. The centre of the Australian continent is taken by ....

a) the mountain ranges b) the deserts c) the plains

2. The chief rivers of Great Britain are ..., ....

a) the Avon, the Thames b) the Missouri, the Yukon c) the Murray, the Darling
3. ... is located to the south of Asia, between the Pacific and Indian oceans.

a) The USA b) Great Britain c) Australia

4. The southern parts of ... have warm temperatures year round, but the northern
parts have very cold winters.

a) Australia b) the UK c) the USA

5. ... 1s typical of the UK.

a) steady rainfall b) severe drought c) cold winter

3apanue Ne2: [Ipounraiite nuHPOpMAIHIO O CTYIEHTAX, TOJIBKO YTO IPUEXABIINX
B JIETHIOIO 1IKoJy. [Togbepure mpaBuIbHBIN 3aT0JI0BOK JIJIsl K&XKI0M YacTH TEKCTa
Y3 IPEJI0KEHHBIX BAPUAHTOB:

A. Eating traditions
B. A treat and a song go together
C.A popular way of getting many presents
D. Holiday decoration business
E. Holiday food business
F. Cooking special holiday dishes

1. One of the peculiarities of Americans is that they do not usually sit around the
table for a holiday meal. For larger groups, all the food usually stands on a special,
separate table that is beautifully decorated. Everyone can serve themselves with the
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food they want. What is more, they do not usually have salads,” which may seem
rather strange for the Russians living there. Salads, to Americans, may be nothing
more than tossed leaves of lettuce with afew other vegetables.

2. One more type of celebration, which is connected with presents, are «showersy,
for instance a baby-shower or a wedding-shower. For a baby-shower, a pregnant
woman is given presents for her future child, whereas for a wedding-shower
a bride receives presents for her household. These showers are popular because
on the one hand, itis usually a moderate price to rent a cafe or a restaurant and
order some kind of snacks such as crisps and sauces and salads. On the other hand,
it is very pleasant to be «showered» with presents. Many people are usually invited
to such parties.

Pa3nen 2. 3BecTHBIC 10U KYJIBTYpPhl U HAYKH.

Pa3zneu 3. 51 u Mmup, B KOTOPOM 11 ’KUBY.

Bapuantl

3ananue:

Read the texts about famous Russian people. Match the texts with the names of
these famous people.

1 | He was a well-known Soviet and Russian actor and clown | a.
who acted in many popular films. He worked in a circus | Valentina

in Moscow and now this circus has his name. Children Tereshkova
and grown-ups like to visit it.
2 | She is a Russian professional tennis player. She is an b

Olympic medalist, who won silver for Russia in women's | Peter the Great
competition at the 2012 Summer Olympics in London.

3 | She is a Russian cosmonaut. She was the first woman in C.
the world to fly in a space rocket. She flew in spaceship Dmitry Bilan
Vostok 6 on 16 June 1963.

4 | He was a Russian czar at the end of 17th century. He is d.
best known for his big reforms and made Russia a great Yury Nikulin
nation. He went to Europe where he met many talented
people and learnt a lot of jobs. He built ships and created
Russian fleet. He founded St. Petersburg.

5 | He was a Russian scientist and inventor. He discovered e.

and formulated the Periodic Law and made the Periodic Maria Sharapova
Table of Elements. An interesting fact about him is that he
saw this system in his dream, when he was sleeping.

6 | He is a Russian actor, singer and a songwriter. He f.
represented Russia at the Eurovision Song Contest 2006 Mikhail
with the song "Never Let You Go". He won the second Lomonosov

place. In 2008, he won the contest in in Belgrade with the
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| | song "Believe".

Bapuant 2
3ananue:
Ecological Problems
Ecology is a science which studies the relationship between all forms of life on our
planet and the environment.

Since ancient times Nature has served Man, giving him everything he needs: air to
breathe, food to eat, water to drink, wood for building and fuel for heating his
home. For thousands of years people lived in harmony with the environment and it
seemed to them that the resources of Nature had no end or limit.

With the industrial revolution our negative influence on Nature began to increase.
Large cities with thousands of polluting plants and factories can be found
nowadays all over the world. They pollute the air we breathe, the water we drink,
the fields where our crops are grown. Big cities suffer from smog. Cars with their
engines have become the main source of polluting in industrial countries.

Vast forests are cut down everywhere for the needs of industries. As a result many
kinds of animals, birds, fish and plants are disappearing nowadays.

The pollution of the air and the world’s oceans and the thinning the ozone layer are
the other problems arising from men’s careless attitude to ecology.

Active measures should be taken to save the life on our planet. There is an
international organization called Greenpeace which is doing much to preserve the
environment.
Questions to the text on ecological problems:
Why are the wild animals in danger?
What climatic changes are the most threatening?
Is there any way to make our air cleaner
What is Green Peace?
What are the main ecological problems?

OO E

Paznen 4. Cnopt u 310poBblii 00pa3 :KU3HM.
Bapuanr 1
3ananmue:

Swimming
Read the text. Complete the passages using the words: racing, until, goggles
(ouxu), almost, as long as, safety, splash, besides, ear plugs (éepywu), prevent.
Most Americans can swim, and 1 everyone likes at least to 2

around in the waves on a hot day at the beach. Knowing how to swim
13



IS important for 3 but when you do it seriously, swimming is also one of
the best exercises for your body.

4 water and  swimsuit you don’t need  much.
5 keep irritating chlorinated water out of your eyes and let you watch
where you’re going, A swimming cap makes you more streamlined for
6 and keeps your hair out of your face.

7 keep the water out and 8 ear infections.

To get in shape, start by swimming twenty minutes three times a week. Add ten
minutes 9 you’re swimming for an hour each time. Vary your strokes
to work different muscles. It’s okay to take short breaks, 10 your

heart rate stays up.

Bapuant 2
3apanme: Read the text. Answer the questions.
Sports and healthy lifestyle

Sport plays an important role in the life of teenagers. Those people who go in
for sports, lead a healthy lifestyle, follow a diet and control their weight tend to be
more cheerful and are less susceptible to diseases. On the other hand, those people
who don't participate in any physical activity and prefer junk food tend to be
subjected to obesity and are at risk of heart and vascular diseases. As a matter of
fact, the problem of obesity is one of the most pressing in the modern world. Today
more and more teenagers are becoming overweight. One solution that can be put
forward is doing sports, which can help teens not only to lose excessive weight and
to stay fit, but also to feel more vigorous and spirited throughout the day. Physical
exercises are also the perfect way for emotional release. To improve school
performance it is essential for school children to balance mental stimulation and
physical activity. Besides, it is necessary to mention that supporters of healthy life
style are also at much less risk of getting involved in drinking alcohol, taking drugs
and other bad habits than those who are addicted to computer games, instead. In
addition, sports develop the will for victory, as well as caseharden the constitution
and the spirit. Sports also create opportunities to find congenial souls with
common interests and values. That feeling that you are a part of the team can help
to develop your leadership skills and to boost your self-esteem.

The most popular team sports for teenagers are football, volleyball, basketball
and tennis. However, some youngsters prefer winter sports, such as figure-skating,
ice-hockey and skiing, while others are fond of summer sports, including diving,
swimming, yachting and rafting.

14



As far as | am concerned, | do like sports. | usually wake up at 7 a.m. and go for a
run or do my morning exercises indoors. Twice a week | take my fitness classes
and go to the swimming pool. | am also fond of yoga which teaches me how to
take care of my body properly and how to stay healthy, flexible and strong. In
summer | like to play badminton and volleyball with my friends, while in winter |
go to the skating rink. As for dieting, | am a follower of separate nutrition. When
you eat separately you can eat almost anything but not at the same time. For
instance, for breakfast | prefer a plate of oatmeal, a glass of orange juice and two
apples. As is known, "an apple a day keeps a doctor away". For dinner | can eat
fresh vegetables and some steamed fish. Besides, | prefer mineral water and fresh
juices to fizzy drinks. In conclusion, a healthy person doesn't smoke, eats healthy
food and prefer doing sports to watching them.

Vocabulary:

1) to go in for sports — 3aHuMAaThCS CIOPTOM

2) to lead a healthy lifestyle — Bectu 310poBbIii 00pa3 KU3HU
3) to follow a diet — coGmronath nueTy

4) physical activity — ¢usudeckas 1esaTeIbHOCTh

5) to take part (in) / to participate in — npuHEMaTh yyacTtue (B 4eM-JIn00)
6) junk food — me3nopoBas nuima, Gact-pyn

7) to lose weight — xyneTs, cOpachIBaTh Bec

8) to keep fit — ocraBatbcs B Xopoiieh pusuueckoit Gopme
9) susceptible to diseases— BocTpUUMUHNBBIA K OOJIC3HIM

10) heart and vascular diseases — cepaeuHo-cOCyAUCThIC 3a00IeBaHMS
11) obesity—ry4uHOCTB, OXKHUpPEHUE

12) overweight people— iroau ¢ U30BITOYHBIM BECOM

13) vigorous — cuJIbHBIN, SHEPTHYHBIN

14) spirited— >xuBOM, OKUBIEHHBIN, SHEPTUUHBIN

15) emotional release— smornoHanbpHas pa3rpyska

16) bad habit — nyphas npuBbIuKa

17) to caseharden the constitution — 3akansaTh T€10

18) skating rink — xaTok

19) will for victory — Bounst k mobene

20) to caseharden the spirit — 3akansaTh 1yx

21) congenial soul— 6ym3kwmit o AyXy YenoBek

22 10 boost self-esteem — moBbIIIATE CAMOOIICHKY

23) to go for a run — BBIXOIUTH Ha MPOOESIKKY

24) to do morning exercises — aenaTh YTPEHHIOK 3apsIKy

25) yachting (sport)— napycHslit criopt

15



26) separate nutrition — pa3nenpHOE MUTaHNE

27) steamed fish — pri0a Ha mapy

28) oatmeal — oBcsHas karia

29) fizzy drink — ra3upoBaHHBII HAITUTOK

30) flexible— ruGkmii.

Answer these questions.

. What role does sport play in the life of teenagers?

. Those people who go in for sports, lead a healthy lifestyle, don’t they?
. What problem is one of the pressing in the modern world?

. How can one solve this problem?

. What role do physical exercises play for emotional release?
. What should students do to improve school performance?

. What bad habits are there in the text?

. What are the most popular sports for teenagers and youth?

. What lifestyle do you lead?

10. What person is called a healthy person?

O© 00 N O Ol &~ W P

Pazgea S. O0bIyau v TpagMuMu.

Bapuanr 1

3aganue:

Read the text and say if the sentences below are true (T) or false (F):
Easter

As soon as 2 January arrives, shops remove the Christmas product lines from
their shelves and the Christmas decorations from their windows. What fills the
empty spaces? Chocolate Easter eggs, Easter bunnies and Easter chicks, despite the
fact that Easter itself doesn’t come along until a few months later. Easter also
means we have public holidays, Good Friday and Easter Monday, it’s the longest
public holiday after Christmas and people sometimes take the opportunity to take a
short break away from work by extending their leave. Cheryl from Liverpool said,
‘I use the Easter break to visit relatives and socialise with friends, the chocolate
giving and receiving is a good bonus!’

Easter celebrates the resurrection of Christ. In the European pre-Christian
tradition, it celebrates the return of nature and greenery after the cold, snowy
winter. The Easter chick symbolises new life, the rabbit represents fertility and the
egg symbolises both. That is why painted eggs or chocolate eggs are given as gifts
at Easter.

Are these sentences T or F?
1) Soon after Christmas the shelves of all the shops become empty.
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2) Chocolate Easter eggs, Easter bunnies and Easter chicks can be bought long
before the Easter coming.

3) Easter is the longest public holiday after Christmas.

4) Easter celebrates the return to pre-Christian traditions.

5) Easter eggs symbolize return of nature.

BapuanT 2
3apanme: Read the text and fill in the gaps:
Christmas in Different Parts of the United Kingdom

In the north of England up to the middle of the 20th century, it (1)
common to find a dish of “Mugga” on the Christmas Eve table. This (2)
a kind of wheat porridge, sweetened with honey, which (3)
before the main meal, and also throughout Advent, which is the month leading up
to Christmas. It (4) a remnant left over from Viking times. But it (5)
up in similar forms all over Europe. In Poland for example they (6)
“Kuia” which is a cereal dish made from wheat, fermented overnight in

milk, sweetened with honey and spiced. In Scotland they (7) “Athol
Brose” which is made from oats. It also has whisky in it and (8) as a
drink!

1. A.is B.are C. was D. had been

2. A.isB. are C.was D. had been

3. A. ate B. eat C. eats D. was eaten

4. A. has been B. was C. is D. are

5. A. turned B. was turned C. turn D. turns

6. A. has B. have C. had D. have had

7. A. have B. has C. had D. have had

8. A. is served B. was served C. serves D. served

Paznen 6. «IIpou3BoacTBo aBTOMOOHMIEH)

BapuanTt Nel
3ananmue:
Read and translate the text:

AVISIT TO APLANT
A group of pupils was going to visit a machine-building plant. They were met by
the chief engineer. He told them a few words about the history of the plant and its
work. After the introduction made by the chief engineer, the pupils were taken over
the shops. They visited a forge, a foundry and the main assembly line. In the shops
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they watched the forging, casting and welding processes. The pupils were told
about safety techniques, the aim of which is to prevent accidents. The air in the
shops was purified by modern ventilators and dust-collecting apparatus.
Experimental work was conducted on a large scale; labor-saving devices were
constantly being introduced.

The plant had several sanatoriums and rest homes where the workers could spend
their holidays.

The pupils were much impressed by their visit to the plant and learned many
interesting things about up-to-date equipment.

[TocTaBbTe 5 BONPOCOB K TEKCTY.

Make up the story about choosing the profession. Your future plans using given
expressions:

1) after graduating from the vocational school - mocie okonuanus I1TV;

2) I'd like to get work at... - MHe OBI XOTEJIOCh MOJIYYHUTh PadoTy Ha (B) ...;

3) I'm going to be... - s coOuparoch cTaTh;

4) | want to enter the institute - s xody MocTynuTh B MHCTUTYT;

5) entrance exams - BCTYIUTEIIbHBIC YK3aMEHBI;

6) a full-time student - cTyaeHT THEBHOTO OTACICHUS;

7) a half lime student - cTyaeHT BeduepHEro oTac/ICHUS;

8) a fitter (a bench worker) - ciecaps;

9) a technician - TexHuK;

10) a mechanic - MmexaHuK;

14) a welder — capiuk.

Bapuant Ne2
3amanue:
Read and translate the text:

OUR WORK AT THE PLANT
| study at the college. | have practice on my profession at a big plant. My work is
interesting and important. I am fond of my work. The workers of the plant fulfill
and over fulfill the plan. The automation is introduced in many shops. The
production is being constantly increased. My friends and | take part in social life of
the plant.
| study and work three days a week. I'm learning many subjects. My favourite
subjects are Physics and Literature. Besides, we have many special subjects. |
study a trade of a turner and | operate a modern universal lathe. My foreman is an
old worker. He is a skilled worker. He performs the most difficult operations.
After graduating from the college I'm going to become a mechanic and study at
the institute.

Answer the questions:

1.Where do you study?
2.Where do you work?
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3.1s your work interesting and important?
4.Do you take part in social life of the plant?
5.What subjects do you learn at the college?
6.What trade do you study?

7.What are your future plans?

Pasnen /. «IIpou3BOJCTBO U TeXHHKA 0€30MaACHOCTH)
Bapuanr 1
3aganue:

safety engineering - Texauka 6€301aCHOCTH
accident - HecuacTHBII citydai

safety rules - mpaBuIa TeXHUKH

lack - HexBaTka, OTCYTCTBHE 0€30MTACHOCTH
training workshop - yueOHsIii 11ex (MacTepckas)
to ensure — obecrieunBaTh

Change the Russian words into the English ones:
This was necuacmnurii cyuail.

All people should keep mexnuxy 6ezonacnocmu.
Do you know npasuna mexnuxu?

We work in macmepcrkoii.

| o6ecneuusaro safety engineering.

Read and translate the text:

SAFETY ENGINEERING
Accidents to people in industrial enterprises are called industrial traumatism
(injury). They occur when workers have not acquired the requisite for skill and
lack the necessary experience in handling tools and equipment. Accidents are also
caused through neglect of safety rules and regulations in the factories and training
workshops.
The purpose of safety engineering is to prevent accidents and to create such
conditions of work in industry which will ensure maximum productivity of labour.
When taking up new duties or when first going to work at any industrial enterprise
each worker is obliged to acquaint him thoroughly with, and to master the safety
instructions.

Answer the questions:

1.How are the accidents to people in industrial enterprises called?
2.When do the accidents to people occur?

3.What must one do to prevent accidents?

4.What is the purpose of safety engineering?

5.What is a worker obliged to do when taking up new duties?
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Bapuant 2

3ananue:

Find the Russian equivalents:

1.quantity a. )KeCTKUU (3KeCTKOCTB)
2.alloy b. yriepon

3.carbon C. pacTshKCHHE
4.substance d. momomka
5.tough(ness) ¢. KOJIMYE€CTBO
6.hard(ness) f. KOBKOCTB

7.ductility g. pa3phiB
8.malleability h. mpo4HOCTH

9.tension I. BA3KOCTb
10.compression J. cruiaB

11.rupture K. TBepIbIii (TBEPIOCTH)
12.strength l. cxxarme

13.braking M. BEMIECTBO

Translate the words into Russian:
metal, industry, industrial, absolutely, laboratory, steel, elastic, mechanical, result,
atom, atomic, structure, special, temperature.

Read the text and do the tasks:
METALS

Mankind has used metals for centuries in gradually increasing quantities but only
now they are employed in really great quantities.

Today we know more than seventy metals, the majority of which are used in
industry.

Of all the metals iron is the most important one. Absolutely pure iron is never
prepared except for laboratory purposes. The irons and steels in use today are
really alloys of iron, carbon and other substances. They can be made elastic, tough,
hard, or comparatively soft.

Mechanical properties of metals are the result of their atomic structure. They
include hardness, ductility and malleability which are of special importance in
engineering.

Ductility is the capacity of a metal to be permanently deformed in tension without
breaking.

Malleability is the capacity of a metal to be permanently deformed by compression
without rupture.

These properties are similar to each other but not the same. Most metals increase
these properties at higher temperatures.

The strength of a metal is the property of resistance to external loads and stresses.
These mechanical properties are of great importance in industrial purposes
because all parts and units made of iron and steel must meet up-to-date demands.
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Match the questions and the answers:

1.What is the most important
metal?

2.What mechanical properties of
metals do you know?

3.What is strength?

4.What is ductility?

5.What is malleability?

a. The capacity of a metal to be permanently
deformed in tension without breaking.

b. Iron.

c. The capacity of a metal to be deformed by
compression without rupture.

d. The property of a metal to resist to external
loads.

e. Hardness, ductility and malleability.

Complete the sentences:

1.The most important metal in use today is....

a) carbon

b) iron

Cc) some other metal
Ductility is the capacity....

Malleability is the capacity of a metal....
The strength of a metal is the property....

a) to be permanently deformed in tension without breaking
b) to be permanently deformed by city of compression without rupture

C) to resist to external loads and stresses

Pa3nen 8. « CoBpeMeHHBbI aBTOMOOUIIbY

Bapuanr 1
3ananmue:

KonTpoJsbHoe 3aganmne Nel

Match the words and their meanings:

1.ferrous metals
2.cast iron
3.carbon content
4.alloy steel
5.carbon steel
6.strength
7.hardness
8.ductility
9.machinability
10.resistance to wear
11.conductivity
12.iron
13.silicon

a. MPOBOJIUMOCTD

b. yrnepoaucrast cranb

C. U3BHOCOCTOMKOCTD

d mpoyHOCTE.

€. 0OpabaTbiBaeMOCTh (Ha CTaHKE)
f. JKECTKOCT®.

g. ’Kene30

h. cruiaB

I. YepHBIC METaJLJIBI
J.ayryH

K. comeprkanue yriepoa
1. KOBKOCTh

M. JIerupOBaHHasl CTaNb
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14.alloy
15.rust-resistant

N. KpeMHUU
0. HEP>KABEIOLIHN I

Translate the words into Russian:
metal, element, industry, steel, material, industrial, electronic, magnetic, type,
chemical, mechanical, rocket, automobile.

Read and translate the text:

FERROUS METALS AND STEELS
Ferrous metals consist of iron combined with carbon, silicon and other elements.
But carbon is the most important element in ferrous alloys.
Ferrous metals are used in industry in two forms: steel and cast iron, which differ
in the quantity of carbon content.
Alloys consist of a simple metal combined with some other element. Steel is a
ferrous material having some carbon content. There are two kinds of steel: carbon
steel and alloy steels.
Carbon steel should contain only iron and carbon without any other alloying
element.
Alloy steels are those in which in addition to carbon an alloying element is
present. These alloying elements have an effect on the properties of steel. They
increase its strength and hardness, for example, high percentage of chromium
makes steel rust-resistant, and we call it "stainless steel".
Strength, ductility and machinability are the most important industrial and
commercial properties of steel. Such properties as resistance to wear, electrical
conductivity, and magnetic properties are important in special uses of metals.
According to their chemical and mechanical properties steels may be used in
different branches of industry, for example, in machine building, rocket
engineering, automobile industry, etc.

Match the questions and the answers:

1.What elements do ferrous metals
consist of?

2.What is carbon steel?
3.What arc alloy steels?

4 What are the most
properties of steel?

5.In what branches of industry are steels
used?

important

a.Steels in which in addition to carbon
an alloying element is present.

b.In machine building, automobile
industry, etc.

¢.Of iron combined with carbon, silicon
and other elements.

d.It contains only iron and carbon.
e.Strength, ductility and machinability.

BapwuanT 2
3ananmue:
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Match the words and their meanings:

1.lustre a. OKpyXaromias cpeaa
2.property b. 3amuInaTe ot
3.quantity C. MIOJBEPraThCs
4.conductivity d rmIoxoii MPOBOAHKUK
5.solid state ¢. KOJIMYECTBO
6.brittle f.0neck

7.undergo g. cruiaB

8.to protect from h. cBoiicTBO
9.environment I. IPOBOAMMOCTH
10.alloy ] TBepI0€ COCTOSTHHUE
11.poor conductor K. xpynkwuii
12.distinction |. mpouHOCTH
13.strength M. ’KECTKOCTh
14.hardness N. pa3auame

Translate the words into Russian:

metal, metallic, electricity, electric, fact, group, rocket, construction, element,
material, corrosion, chemical, electromechanical, product, steel, organic, barrier,
industry.

Read, translate the text and do the tasks:

METALS AND NONMETALS
There are some distinctions between metals and nonmetals. Metals are
distinguished from nonmetals by their high conductivity for heat and electricity, by
metallic lustre and by their resistance to electric current. Their use in industry is
explained not only by those properties, but also by the fact that their properties,
such as strength and hardness, can be greatly improved by alloying them with other
metals.
There are several important groups of metals and alloys. The common metals such
as iron, copper, zinc, etc. are produced in great quantities.
The so-called precious metals include silver, gold, platinum and palladium. The
light metals are aluminum, beryllium and titanium. They are important in aircraft
and rocket construction.
Many elements are classified as semimetals (bismuth, for example) because they
have much poorer conductivity than common metals.
Nonmetals (carbon, silicon, sulphur) in the solid state are usually brittle materials
without metallic lustre and are usually poor conductors of electricity. Nonmetals
show greater variety of chemical properties than common metals do.
Metals can undergo corrosion, changing in this case their chemical and
electromechanical properties. In order to protect metals from corrosion the
products made of metals and steel are coated by some films (coatings). Organic
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coatings protect metals and steel from corrosion by forming a corrosion-resistant
barrier between metal or steel and the corrosive environment.

Match the questions and the answers:

1.By what properties are metals
distinguished from nonmetals?

2.What common metals are produced in
great quantities?

3.What metals are called light?

4.What properties do nonmetals have?
5.What is done to protect metals from
corrosion?

a.lron, copper and zinc.

b.They are usually poor conductors of
heat and electricity

c. They are coated by some organic
coatings.

d. High conductivity for heat and
electricity.

e. Aluminum, beryllium and titanium.

KonTpoJsbHoe 3aganmne Ne2

BapuanT 1

3amanue:

Match the words and their meanings:
1.grinder a. KpOHIITEHH
2.lever b. 3aroToBka
3.wheel slide

4.cross-feed

5.wheel spindle
6.bracket

7.wheel head

8.to clamp

9.to set-up

10.to adjust
11.longitudinal direction
12.work piece

h. peruar

Translate the words into Russian:

C. POJI0JIBHOE HAINpaBJICHUE

d. HamaXXUBaTh CTAHOK (/151 KAKOU-1I. pabomoi)
€. peryianupoBaTh

f. mudoBaTbHBIN CTAaHOK

0. tu¢oBaIbHBIA CYNIOPT

I. IorepeyHast mojaava

J. nutndoBasTbHAs TOJIOBKA

K. mmuuaens numdoBaibHOTO Kpyra
1. 3axumars

universal, cylinder, type, mass, massive, construction, hydraulic, control, function,

spindle, motor.
Read the text and do the tasks:

THE HYDRAULIC GRINDER
This universal grinder is designed for grinding cylindrical holes and faces of work
pieces. It is widely used for lot production in various types of machine building

plants.

Machines of this type are of very massive construction, but they are designed in
such a way that they can be operated as easily as machines of smaller sizes.
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They are hydraulically operated and controlled by a single lever located at the front
end of the machine. This single lever controls all functions of the machine
including all movements of the wheel slide, cross-feed, starting and stopping the
work of the spindle.

The wheel spindle is driven by a V-belt from a motor located on a bracket on the
wheel slide. The cross-feed for the wheel slide is operated by a hydraulic unit.

The wheel head is clamped on the top surface of the table. When setting up the
grinder, the wheel head can be adjusted in a longitudinal direction to suit the length
of the work piece.

Match the questions and the answers:

1.What operations are the universal grinder | a.By a hydraulic unit.

designed for? b.For grinding cylindrical holes of
2.What mechanism controls the movements | work pieces.
of the wheel slide and cross-feed? ¢.On the top surface of the table.

3.By what unit is the cross-feed for the wheel | d. The lever.
slide operated?
4.Where is the wheel head clamped?

BapuanT 2

3amanue:

Match the words and their meanings:

1.mechanical engineer a. IONTUH CPOK CITY>KOBI

2.to deal (with) b. 3amycTHTh B MacCOBOE MPOU3BOJICTBO

3.designing cars C. IMOIBEpraTh UCIIBITAHHUSIM

4.to put into mass production d. mnaBHOE ClEIICHHE

5. long service life €. OTBEYaTh COBPEMEHHBIM TPEOOBaHUAM

6.driving safety f. umeTh neno (¢ kem-u., wem-i.)

7.to meet up-to-date demands g. HaJIGKHBIC TOPMO3a U PYJICBOE
yrpaBJieHUE

8.smooth-acting clutch h. 6e3omacHOCTb e3/1b1 (BOXKICHMU)

9.silent gearbox I. OecrrymMHast KOpoOKa mepenad

10.dependable brakes and steering

system J. MH)KEHEP-MEXaHUK

11.to subject to tests K. KOHCTpyHpOBaHKE aBTOMOOMJICH

Translate into Russian:

mechanical, mechanism, specialist, industry, phase, technology, process,
laboratory, test, fact, automobile, engineer, method, principle, corrosion, type,
material, comfortable.

Read the text and do the tasks:
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AUTOMOBILE PRODUCTION
1.Specialists in automobile industry deal with designing and manufacturing cars,
so they should know that the production of the automobile comprises the following
phases:
Designing,
Working out the technology of manufacturing processes,
Laboratory tests,
Road tests.
Mass production (manufacturing).
2.Why is it necessary to know all these facts?
It is important to know them as before the automobile (car or truck) is put into
mass production, it should be properly designed and the automobile must meet up-
to-date requirements.
3.What are these requirements?
The automobile must have high efficiency, long service life, driving safety, ease of
maintenance and pleasant appearance.
In order to obtain all these qualities engineers should develop up-to-date methods
of designing cars, using new types of resistant to corrosion light materials. Also it
Is important to know computer science because it is intended to shorten the time
between designing and manufacturing. Computers offer quick and optimal
solutions of problems.
But before the car is put into mass production all its units and mechanisms are
subjected to tests, first in the plant's laboratory, then the car undergoes a rigid
quality control in road tests. Only then the car is put into mass production. Why are
these tests required? What qualities are required of the automobile? The modern
automobile must be rapid in acceleration, must have smooth acting clutch, silent
gearbox, dependable brakes and steering system, as well as pleasant appearance.
Also it must be comfortable and have all conveniences.

Match the questions and the answers:

1.What phases does the |a. It must have high efficiency, long service life,
production of the | driving safety, ease of maintenance and pleasant

automobile comprise?
2.What requirements must
the automobile meet?
3.Why are cars subjected to
road tests?

4. What  qualities are
required of the automobile?

5Why is it important for
the specialists in
automobile  industry to

know computing methods?

appearance.
b.  They should be able to develop up-to-date
methods of designing cars and shorten the time
between designing and manufacturing.

¢ Because they must meet up-to-date requirements.

d. Designing, working out technological
processes, laboratory and road tests, mass
production.

e. It must be rapid in acceleration, must have

smooth acting clutch, silent gearbox, dependable
brakes and steering system.
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V. KOHTPO/IbHO-0LIEeHOYHBbIE CPEACTBA ISl POMEKYTOYHOM aTTecTAlluN

Bapuant Ne 1
3apanue:

1. Match the words and their meanings:

body

car wheels

power train

power plant
springs

steering system
clutch

final drive

engine crankshaft
push down the pedal
brakes are applied
frame with axles
fuel system
lubricating system
accessories

a. TOpMO3a CpadaTHIBAIO

b. cuoBas nepegaya

C. TJIaBHAs mepeiava

d. koneHYaTHIi Baj ABUTaTEllb
€. Ha)XKUMaTh Ha IIeaallb

f. cuoBas ycraHoBka

g. KoJeca aBTOMOOUIIA

h. pama ¢ ocsamu

|. TOIUIMBHAS CUCTEMa

J. pyaeBas cucrema

K. cuerienue

1. BcrmoMoraTebHbIE YCTPOHCTBA
M. cucTeMa CMa3KH

N. Ky30B

0. PECCoOpbI

2.  Translate into Russian:
automobile, chassis, speedometer, electric, system, cylinder, cardan, control,
hydraulic, pedal, accessories, differential.
3. Read. Translate the text and do the tasks:

COMPONENTS OF THE AUTOMOBILE
Basically, the automobile consists of three parts: the power plant, or the engine, the
chassis and the body. To these may be added the accessories: the heater, lights,
radio, speedometer and other devices.
The power plant or engine is the source of power that makes the wheels rotate and
the car move. It includes electric, fuel, cooling and lubricating systems. Most
automobile engines have six or eight cylinders.
The chassis consists of a power train, frame with axles, wheels and springs. The
chassis includes brakes and steering system.
The power train carries the power from the engine to the car wheels and contains
the clutch, gearbox, propeller or cardan shaft, differential and the final drive.
The clutch is a friction device connecting (or disconnecting) the engine crankshaft
to the gears in the gearbox. It is used for freeing the gearbox from the engine and is
controlled by the clutch pedal.
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Brakes are important mechanisms of the car. They are used to slow or stop the car.
Most braking systems in use today are hydraulic. They are operated by the brake
pedal. When the driver pushes down on the brake pedal, they are applied and the
car stops.

4. Match the questions and the answers:

1. What are the main basic parts of | a. The clutch, gearbox, cardan shaft and the
the automobile? final drive.

2. What does the chassis consist of? | b. Freeing the engine from the gearbox.

3. What units does the power train ¢ The power plant, the chassis and the body.

contain? d. A power train, frame with axles, wheels
4. What is the function of the and springs.
clutch? e. To slow or stop the car.

5. Why are brakes needed?

5.Complete the sentences:

1.The mechanism used for stopping the car is....

2.The mechanism used for changing the speed is....

a) clutch

b) gearbox

c) brakes

3. The mechanism used for connecting (or disconnecting) the engine from the
gearbox is ....

a) brakes

b) clutch

C) steering system

4. The unit carrying the power from the engine to the car wheels is....
a) power plant

b) power train

C) chassis

5. The instrument measuring the speed of the car is...

a) heater

b) lights

c) speedometer

Bapuant 2
3ananue:

shape - ¢popma
casting - oTimBKa
rolling - npokar
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welding - cBapka

piercing - mpoxXoXkIcHNE

trimming - oOpe3ka (3a1emKa OTBEpCTHS KPaeB)
spinning - BeIgaBIMBaHue (HA TOKAPHO-IaBHIILHOM CTaHKE)
drawing - gyepucHue; 30. BEITATUBAHHC

chuck - 3axxum; maTpoH, aepkaTeib

carriage - kaperka

milling - dpesepoBanue

surface - moBepxXHOCTh

grinding - npoGJenue (n3MenpUeHue), NUTH(OBKA
convenient - yao0HBI#

to equip - cHapsbkaTh, 000PYA0BaTh

shaping - mpunanue Ghopmbl

thread - pe3p0a; Hapeska

bending — crubanue

headstock - mepenuss 6adka

tailstock - 3anasas 6aOka

lathe - TokapHbIii cTaHOK

drilling — cBepnenue

cutting — pe3anue

high-speed — ckopocTHo

efficient — s pexTrBHBIN

forging — xoBka

boring - 6ypenue, cBepiicHUE

steel - cranp

Read and translate the texts:

MACHINE-TOOLS
Metal undergoes a number of processes before it is formed into the required shape:
casting, rolling, welding, piercing, trimming, spinning, bending, drawing, etc.
The machines which perform all these kinds of works are called machine-tools.
The most common machine-tool found in almost any workshop is the lathe. The
main parts of it are: the headstock, the chuck, the tailstock, the carriage.
The automatic lathe is a perfection of the ordinary lathe. Its tools are changed
automatically. A worker skilled in the use of a lathe is called a turner.
There are many other machine-tools that work on plane surfaces, for example,
milling machines, planning and shaping machines. Circular holes are drilled by a
drilling machine or bored by a boring machine or a boring mill. Thread milling
machines are used in the production of different machine elements. Gear cutting
machines include gear milling machines. All these machines use cutting tools
made of high-speed steel.

LATHES

There are three types of lathes produced by our machine-tool manufacturing
works: heavy, medium and light types. The type of a lathe depends upon the size of
diameter of work pieces.
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A most convenient and efficient machine is the model combination lathe for
turning, milling, drilling, grinding, slotting, and tool-sharpening jobs. It can be
used both in stationary and mobile repair shops, on ships, etc.

DRILLING MACHINES
The most drilling machines are equipped with mechanisms, permitting not only
drilling, countersinking and reaming, but also cutting female threads with the help
of taps. Both universal and special-purpose type radial “drills are built.

Answer the questions:

1.What processes does metal undergo before it is formed into the required shape?
2.How are the machines which perform this work called?

3.What is the most common machine-tool in any workshop?
4.What are the main parts of a lathe?

5.What is the automatic lathe?

6.How do we call a worker, skilled in the use of a lathe?

7.What machine-tools that works on plane surfaces, do you know?
8.What do the drilling machines drill?

9.Where are the threads milling machines used?

10.What are the main types of lathes?

11.What is the most convenient and efficient machine?

12.What are the most drilling machines equipped with?

BapuanT 3
3ananmue:
1.Match the words and their meanings:

1.internal combustion engine a. TIOPIIICHb

2.combustion chamber b. BepxHsis MepTBast TOUKa
3.stroke C. UETBIPEXTAKTHBIN JIBUTATEIIb
4.piston d. xoneHuyaTHIN BaJ

5.top dead centre €. OTBEpPCTHE KJIalmaHa
6.bottom dead centre f. IBUTaTENIb BHYTPCHHETO CTOPAHHUS
7.four-stroke cycle engine g. HIOKHSISL MEpTBast TOUKa
8.two-cycle engine h. TorutuBHAas cucTema
9.crankshaft I. TakT Bripbicka (moniuea)
10.intake stroke J. IBYXTaKTHBII BUTATENb
11.valve opening K. kamepa cropaHusi

12.fuel system 1. xox, Takt (nopuirs)
13.power stroke M. BBIXJIOI

14.exhaust N. pabouuii X0 MOPITHS

2.Translate the words into Russian:
cylinder, automobile, limit, centre, cycle, compression, gas.

3.Read, translate the text and do the tasks:
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THE ENGINE
The engine is the source of power that makes the car move. It is usually called an
internal combustion engine because gasoline is burned within its cylinders or
combustion chambers. Most automobile engines have six or eight cylinders.
The operating cycle of the four-stroke engine that takes place in the engine
cylinder can be divided into four strokes. The upper limit of the piston movement
is called the top dead centre. The lower limit of piston movement is called the
bottom dead centre. A stroke is the piston movement from the top dead centre to
the bottom dead centre or from bottom dead centre to the top dead centre. In other
words, the piston the completes a stroke each time it changes the direction of its
motion.
Where the entire cycle of events in the cylinder requires four strokes (two
crankshaft revolutions), the engine is called a four-stroke cycle engine. The four
strokes are: intake, compression, power and exhaust.
Two-cycle engines have also been made, and in such engines the entire cycle of
events is completed in two strokes or one revolution of the crankshaft.
On the intake stroke the intake valve is opened. The mixture of air  and
vaporized gasoline is delivered into the cylinder through the inlet valve. On the
compression stroke the inlet valve is closed so that the mixture can be compressed.
On the power stroke both valves (inlet and exhaust) are closed in order to raise
pressure during the mixture combustion. On the exhaust stroke the exhaust valve is
opened to exhaust the
residual gas.

4.Match the questions and the answers:

1.What is the top dead centre?
2.What is the bottom dead centre? | a.When the entire cycle of events is
3.When the engine is called a four- | completed in two strokes.

stroke cycle engine? b.The lower limit of the piston movement.
4.When the engine is called a two- | c.The upper limit of the piston movement.
cycle engine? d.When the entire cycle of events in the
5.What kind of strokes can the cylinder is completed in four strokes.
events in the engine cylinder be e.Intake, compression, power and exhaust
divided into? strokes.

5. Complete the sentences:

1.An internal combustion engine is called so because gasoline is burned....
a) inside the combustion chamber

b) outside the combustion chamber

2. The upper limit of the piston movement is called...
3. The lower limit of the piston movement is called....
a) the bottom dead centre
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b) the top dead centre

4. The four-cycle engine requires....
a) two strokes of piston movement
b) four strokes of piston movement

5. The mixture of air and gasoline is delivered into the cylinder....

a) on the power stroke

b) on the exhaust stroke

C) on the intake stroke

d) on the compression stroke
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Ipunooiwcenue 1. Knouu k KOHmMpoabHO-0YEHOUHBIM CpeOCmB8am Ol MeKyue2o
KOHMpPOs

Pasne.ﬂ 1. CTpaHBI H3Yy1a€MOro sisbika

Tect Nel
BapuanTt Nel
3amanue Nel 3aganue Ne2
Knrou k 3a0anuam Knrwu k 3a0anusam
4 C 4 B
5 B 5 B
Bapuant Ne2
3amanune Nel 3amanue Ne 2
Knrou k 3a0anuam Knrou Kk 3a0anusam
1 B 1 C
2 C 2 A
3 A 3 C
4 C 4 C
5 C 5 C
Tect No2
Bapuant Nel Bapuant Ne2
3aoanue 3aoanue

Knrou k 3a0anuam
Knrwu k 3a0anuam

oi O A D 1 |2 |3 |4 |5

a b a a a

b a C C a
Tect Ne3
BapuanTt Nel Bapuant Ne2
3anmanue 3amanue
Knrou k 3a0anuam Knrou k 3a0anuam
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A B D C b |e d a C
Tect Ne 4
BapuanTt Nel
3amanue Ne 1 3aganue Ne2
Knrou k 3a0anuam Knrou k 3a0anuam
1 2 3 4 5
a b a a a 1 2

D E
Bapuant Ne2
3amanune Ne 1 3amanue Ne2
Knrou k 3a0anuam Knrou k 3a0anusam
1 [2 [3 T[4 s 1 2
b [a |c [c Ja A C

Paszneua 2. U3BecTHBIC JIIOAH KYJIbTYPbl U HAYKH

Bapuanr 1
3amanue:
Knrou k 3a0anuam

1 2 3 4 5 6
d e a b f C
Bapuant 2
3aaHue:
Knwu k 3a0anuam
1. They are in danger because vast forests are cut down everywhere for the
need of industries.
2. The pollution of the air and the world’s oceans and the thinning the ozone
layer are the most threatening.
3. Yes, there are some.
4. Greenpeace is an International organization.
5. The main ecological problems are the pollution of air, water, disappearing

animals etc.
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Pasnen 4. CiopT M 310poBbIii 00pa3 JKU3HU
Bapuantl

3ananue

Knrwou Kk 3a0anuam

1 2 3 4 5 6 7 8 9 10
almost | splash | safety | besides | goggles | racing | ear | prevent | As until
plugs long
as
Bapuant 2
3anaHue

Knrou k 3a0anusam

Sport plays an important role in the life of teenagers.

Yes, they do.

The problem of obesity is one of the most pressing in the modern world.

One solution that can be put forward is doing sport.

Physical exercises are also the perfect way for emotional release.

To improve school performance it is essential for school children to balance

mental stimulation and physical activity.

There are drinking alcohol, taking drugs, and so on.

8. The most popular team sports for teenagers are football, volleyball,
basketball and tennis.

9. I lead a healthy lifestyle.

10.A healthy person doesn’t smoke, eats healthy food and prefer doing sports
to watching them.

SokowdrE

~

Pazgea S. O0b1yau ¥ Tpaguuum

Bapuanrl Bapuant 2
3amanue 3amanue
Knrou k 3a0anuam Knrou k 3a0anuam

1 |2 |3 |4 |5 |6
D |[B |A |B |A |A

~
oo

1 12 |3 |4

o1
O
>

T/ T |T |F |F

Pa3znen 6. IlpousBoacTBO aBTOMOOMIIEH
Bapuanrl
3anganue
Knwu k 3a0anuam
IHocemenune 3aBoaa

['pynma mIkoJbHUKOB COOHMpaach MOCETUTh MAIIMHOCTPOUTENBbHBINA 3aBoa. Mx
BCTPETWJI TNaBHBIM WHkeHep. OH pacckazal UM HECKOJIBKO CJIOB 00 HCTOpUU
3aBojia u ero paodore. [locie mpeacraBiaeHus, CASIAHHOTO IVIABHBIM HH)XEHEPOM,
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YYCHHKU OBbUTH TPUHATHI 3a 1exu. OHM MOCETHIM KY3HHILY, JUTEHHBIN IIeX U
TJIaBHBIN COOpOYHBI KOHBeHep. B mexax oHu HaOIIOmamy 3a MpOIECCOM KOBKH,
ouThsl U cBapku. llIkonpHUKaM pacckazaii O TEXHUKE O€30MAaCHOCTH, LENbIO
KOTOPOW SIBIISIETCA MPENOTBPAIIEHUE HECUACTHBIX CiydaeB. Bo3myx B mexax
OUYHILAJICS COBPEMEHHBIMU BEHTUJIITOPAMHU U TBUICYIABIMBAIOIIMMHI allllapaTaMH.
OKcriepUMEeHTallbHbIe pa0OThl BENUCh B OONBIIMX MacmTabax, MOCTOSHHO
BHEJPSUTHCH TPyAOcOeperaronme ycTpomcTaa.
Ha 3aBoze ObUIO HECKOJIBKO CAaHATOPHEB U JIOMOB OTIbIXa, IJle paboyue MOIJIH
MIPOBOJIUTH CBOM OTITYCK.

VYyeHuku ObUIM OYEHb BIEUATICHBI MOCEHICHUEM 3aBOJa M Y3HAIU MHOTO
WHTEPECHOTO O COBPEMEHHOM 000PY/I0BaHUHU.

Bo3moxHBIE BADUAHTBI BOIPOCOB K TEKCTY:

1. What plant was a group of pupils going to visit?

2. What did they visit at the plant?

3.What new things did the pupils know about the plant?
4.Where could the workers spend their holidays?

5. The visit to the plant was interesting, wasn’t it?

Bo3MOHBIN BapUaHT pacckasa:

I’m a full- time student. I’'m going to be a technician. After graduating from the
vocational school | want to enter the institute. | hope | will pass entrance exams
successfully . I’d like to get work at the mechanic- construction plant.

Bapuant 2
3ananue
Kurou k 3aganusam
Hama pa0ora Ha 3aBoae

S yaych B KoJuieke. Y MEHs €CTh MpaKTUKa 1Mo Moei npodeccun Ha OOIBIIOM
3aBojie. Mos paboTa UHTEpecHa U BakHa. Sl oueHb 000 CBOIO padoty. Pabouune
3aBOJia BBINOJHAIOT M IEPEBBIIOJHAKOT IUIAaH. ABTOMarh3alusl BHEIpPEHA BO
MHOTHX Lexax. IIpon3BOACTBO MOCTOSHHO YBEIWYMBAETCA. MBI € Ipy3bsMuU
IPUHUMAEM y4acTHe B 00ILIECTBEHHOM KU3HU 3aBOJIA.

A ydyce u paboraro Tpu IHS B HeAenoo. Sl u3yyaro MHOTO mpeameToB. Mou
Ar00uMbIEe TpeAMEThI-pu3nuKa U JuTeparypa. Kpome Toro, y Hac e€ctb MHOTO
CHeluaibHBIX MpeAMeToB. S wu3ydaro npodeccuro Tokaps | YNpaBIsio
COBPEMEHHBIM YHUBEPCAIbHBIM TOKAapHBIM CTaHKOM. Moil Opuragup-crapblii
pabounii. OH KBaIUPUIIMPOBAHHBIA PaOOTHUK. OH BBIMOIHSAET CaMbl€ CIOXHbBIC
OTepaluu.

[locne okoHYaHMsI KOJJIEMXKa 5 COOMpAIOCh CTaTh MEXAHUKOM M YYHUTHCS B
WHCTUTYTE.
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OTBeThI Ha BOIPOCHI:

1.1 study at the college.

2. | have practice on my profession at a big plant.

3.Yes, it is.

4. Yes, | do.

5. I learn (study) many subjects at the college.

6. | study a trade of a turner.

7. After graduating from the college I'm going to become a mechanic and study at
the institute.

Paznen 7. IIpou3BoACTBO U TEXHUKA 0€30MIACHOCTH
Bapuanr 1

3amaHue

Kirou Kk 3agaHusim

1. This was an accident.

2. All people should keep safety engineering.

3. Do you know safety rules?

4.\We work in the training workshop.

5. | ensure safety engineering.

Texnuka 6€30MacHOCTH

Hecuactnbie ClIydau C JJFOAbMH Ha IIPOMBIINIICHHBIX ITPCAIIPUATHAX HA3bIBAIOTCA
IIPOU3BOACTBCHHBIM TPAaBMAaTHU3MOM. Oun BO3HHUKAKOT, KOI'la pa60THI/IKI/I HEC
HpI/IO6peJII/I H€06XOI[I/IMLIX HaBbIKOB W HC€ HMCIOT H€O6XOI[I/IMOFO OIlbITa B
oOpalieHnuy C WHCTPyMEHTaMHu W oOopyraoBaHueM. HecyacTHbie ciiydan Takxe
BbI3BAHbI IPEHEOPEKEHUEM MTPAaBUJIAMU U HOpMaMU O€30MacHOCTH Ha 3aBOJIaX U B
y4€OHBIX MaCTEPCKHX.

[enpto TeXxHUKM O€30MACHOCTH SIBISETCA NPENOTBPAILIEHHE HECYACTHBIX
CIIy4ya€B M CO3JaHUE TAKUX YCJIOBUW Tpyda B IPOMBIIUIEHHOCTH, KOTOpBIE
obOecrnedar MakCUMaJIbHYIO MPOU3BOIUTEIILHOCTh TPY/A.

[Ipuctymnas Kk HOBBIM 00S3aHHOCTSIM WJIM BIEPBbIE MPUCTYyMas K padoTe Ha JIIoOOM
MPOMBIIIVIEHHOM — TIPEANPUATAU, KaXIbli pabOTHUK 00s3aH  JOCKOHAJIBHO
O3HAKOMHUTDB €TO C MHCTPYKIUAMMU I10 TCXHHUKC 6630HaCHOCTI/I.

OTBeTHI HAa BOMPOCHI:

1. Accidents to people in industrial enterprises are called industrial traumatism
(injury).

2. They occur when workers have not acquired the requisite for skill and lack the
necessary experience in handling tools and equipment.

3.0ne must keep to the safety rules.

4. The purpose of safety engineering is to prevent accidents and to create such
conditions of work in industry which will ensure maximum productivity of labour.
5. When taking up new duties or when first going to work at any industrial
enterprise each worker is obliged to acquaint him thoroughly with, and to master
the safety instructions.
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Bapuanr 2
3amanue
Karou k 3aganusm:

1 2 3 4 5 10 |11 |12 |13

(o]
~
oo
(o]

e J b m a k i f c I g h d

ITepeBon cioB:
Merain, TpOMBIIUIEHHOCTh, HMPOMBILIUIEHHBIH, a0COIIOTHO, J1a00paTopusi, CTallb,
TUOKHUI, MEXaHWYECKUU, Pe3yNbTaT, aToOM, aTOMHBIN, CTPYKTypa, CHEIHAJIbHBIH,
TEMIIEPATypA.

MeTtaniabl
3anganue
Kiarou k 3aganusam

1 2 3 4 5

b e d a C

1 2 3 4

b a b c

Pa3znen 8. CoBpemMeHHbBIi aBTOMOOWIID

KonTpoabHoe 3aganue Ne 1
Bapuanr 1

3amanue

Karou k 3apanusam:

1 2 |3 |4 |5 6 /7 18 19 10 |11 |12 |13 |14 |15

i |j |k |m |b |d |f |l |e |c Ja |g |n |h |o

IlepeBos cii0B:

Meraii, 3JeMEHT, TPOMBIIIEHHOCTh, CTAJIb, MAaTEpUAJl, TPOMBIILJICHHBIH,
AJICKTPOHHBIN, MAarHUTHBIN, TUIl, XAMUYECKUH, MEXaHUYECKUM, pAKETa,
aBTOMOOMJIb.

YepHble MeTALIBI U CTAJIU
YepHble MeTauIbl COCTOST M3 KE€Je3a B COUETAaHUU C YIIIEPOAOM, KPEMHHEM U
JIpyruMu ajieMeHTamu. Ho yriepon sBisSeTCS caMblM BaXKHBIM JJIEMEHTOM B
YEPHBIX CILJIaBaxX.
UepHble METAILIBI UCMOJB3YIOTCS B MPOMBIILICHHOCTH B ABYX (popMax: cTajab U
YyT'yH, KOTOPbI€ OTJIMYAOTCS MO KOJIMYECTBY COJIEpKaHus yriiepoa.
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CmiaBel COCTOST M3 MPOCTOTO METAJJIa B COYETAHHMM C KAKUM-TO JPYTUM
anemMeHTOM. CTanb-3TO KeJNE3UCThIN MaTepuai, UMEIOIINI HEKOTOPOE COJIepKaAHUE
yriepoaa. CylllecTByeT JBa BUJla CTalM: YIJIEPOAUCTAas CTaldb W JIETUPOBAHHbBIC
CTaJu.

VYraepoaucras cTanb A0JMKHA COAEPKAaTh TOJBKO KEJIE30 U yIiiepoJ 0e3 Kakoro-
00 IPYToro JICTUPYIOUIEro JIEMEHTAa.

JlernpoBaHHBIE CTAIM-3TO TE€, B KOTOPBIX IIOMHMO YTJIEpOJia MNPUCYTCTBYET
JICTUPYIOMMUN AJIEMEHT. JTH JICTUPYIOIIUE SJEMEHTHI OKAa3bIBAIOT BIIMSHHE Ha
cBoiicTBa cTanud. OHHU TMOBBIMIAIOT €ro MNPOYHOCTh W TBEPAOCTh, HAIPUMED,
BBICOKHI MPOILIEHT XpoMa JIeJIaeT CTalb CTOMKOM K KOPPO3WH, U Mbl Ha3bIBaEM €€
"HeprkaBerolasi CTajp'.

[IpoyHOCTH, MIACTUYHOCTH M 00Pa0ATHIBAEMOCTD SIBJISIOTCS HanOOJIee BaKHBIMU
MPOMBIIIJIEHHBIMU U KOMMEPYECKMMH CBOMCTBAMHU CTajdu. TakuWe CBOMCTBA, Kak
M3HOCOCTOMKOCTb, 3JIEKTPONPOBOJHOCTh U MAarHUTHBIE CBOMCTBA MMEKOT BAXKHOE
3HAYEHHE MPU CIIECIIUATIBHOM UCIIOJIb30BAHUN METAJIOB.

ITo cBOMM XMMUYECKUM U MEXaHUYECKUM CBOMCTBAM CTaJId MOTYT MMPUMEHSTHCS B
Pa3IMYHBIX OTPACHAX MPOMBIIIICHHOCTH, HAampuMep, B MAalIMHOCTPOCHUH,
PAKETOCTPOEHUU, aBTOMOOUIIBHOW MPOMBIIIUIECHHOCTH U JIP.

1 2 3 4 5
Cc d a e b
Bapuant 2

3amanue

Knrwu k 3a0anuam

1 2 3 4 3) 10 |11 |12 |13 |14

»
~
(00)
(o]

f h e i J k C b a g d n I m

Ilepeeoo cnoes:
MeTaJljI, METaJUINYECKUH, JIEKTPUUECTBO, ANEKTPpUUIECKUll, paKT, rpymnmna, pakera,
KOHCTPYKIIMS, DJIEMEHT, MaTeprall, KOPpPO3usl, XUMUYECKHUH,
AIEKTPOMEXaHUYECKUI, TPOIYKT, CTallb, OpPraHUYECKUi, Oapbep,
IIPOMBIIIEHHOCTb.

MeTaJsibl M HEMeETaJJIbI
CymecTBYOT HEKOTOPBIE Pa3INuMsl MEXKIYy METAUIAMU U HEMETAJJIaMHi. MeTasuibl
OTJIMYAKOTCA OT HEMETAJUIOB CBOEH BBICOKOW IPOBOAMMOCTBIO IS TEIIa M
AIEKTPUYECTBA, METAIUIMYECKUM OJIECKOM M CONMPOTHUBJICHUEM HIIEKTPHUUECKOMY
TOKy. VX mnpumMeHeHHe B MPOMBIIJICHHOCTH OOBACHAETCS HE TOJIBKO 3TUMHU
CBOMCTBaMHU, HO M TE€M, YTO HUX CBOMCTBA, TaKME€ KaK MPOYHOCTb U TBEPHAOCTH,
MOTYT OBITh 3HAUUTEIBHO YJIYYIIEHbl IyTEM JIETUPOBAHUS MX JAPYTUMHU
METAJIJIAMH.
Cy1iecTByeT HECKOJIbKO Ba)KHBIX TPYMN METaUIOB M ciuiaBoB. OOIIMe MeTasllbl
KaK yTIOT, M€/Ib, LINHK, €tC. BBITYCKAIOTCS B OOJIBIINX KOJIMYECTBAX.
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K Tak Ha3pBaeMBIM JparoleHHbIM MeETaJlJlaM OTHOCSATCA cepedbpo, 30J0TO,
minatuHa U namagui. Jlerkue metamnbli-Amomunuid, bepwuii 1 tutan. OHu
BAXXHBI B AaBUACTPOCHUU U PAKETOCTPOCHHH.

MHorue »MeMeHThl KIacCU(UIIUPYIOTCS KakK MOJyMETaubl (BUCMYT, HalpUMeD),
MOTOMY YTO OHH MMEIOT ropas3fo 0oJjiee HU3KYIO MPOBOJUMOCTH, YeM OOBIYHBIC
METaJlJIbl.

Hemetamnsl (yrieposa, KpeMHHUH, cepa) B TBEPJIOM COCTOSSHUH OOBIYHO SIBJISTFOTCS
XpYIIKUMHA MaTepuajiaMyd 0e3 MeTaUIMYECKOro OJiecka W OOBIYHO SBJISIOTCS
IJIOXUMH TPOBOJHUKAMHU JJICKTpUYECTBAa. HeMeTayibl MNposBISIOT OoJblee
pa3zHooOpa3re XUMHUYECKUX CBOMCTB, YeM OOBIYHBIC METAJLIbI.

Mertaibl MOTYT TTOJIBEPTaThCsSl KOPPO3UHU, U3MEHSS IIPU TOM CBOU XUMHYECKUE U
AJIEKTPOMEXAHUYECKHUE CBOMCTBA. JJIs 3allIUThI METAJUIOB OT KOPPO3UU U3ECTUS U3
METAJJIOB U CTAIM TOKPBHIBAIOTCS HEKOTOPHIMU IUICHKAMHU (TOKPBITHSIMU).
Opranuyeckue MOKPHITUS 3AMIMINAIOT METAUIbl U CTallb OT KOPPO3UH, 00pa3zys
KOPPO3UOHHO-CTOMKHUI Oaphep MEXKIYy METALIOM WM CTalbl0o U KOPPO3UOHHOU
cpenou.

1 2 3 4 5

d a e b C
KonTpoabHoe 3axanue Ne 2

Bapuanr 1

3aanue

Knwu k 3a0anuam:

1 2 3 4 5 6 7 8 9 10 11 12
f h g i Kk a ] I d e C b

Ilepeeoo cnoes:
YHUBEpCAIBHBIN, HUJIAHAP, TUIL, MACCa, MACCUBHBIN, KOHCTPYKIIHUS,
TUAPABINICCKUM, KOHTPOJIb, QYHKITHS, IITUH/IEIb, MOTOD

['mapaBnryecKknii U3MEITBYNUTEID

Dta yHHMBepcallbHas NUIM(OBaIbHAS MalllMHA MpeJHA3HAuYeHA I NUTM()OBAHUS
HUAJIMHIPUYECKUX OTBEPCTUHM M rpaHel 3aroToBOK. OH IIMPOKO KCIOJIb30BaH IS
IIPOAYKILIUU CEPUH B PA3JIMUHBIX TUIAX 3aBOJOB MAILLIMHOCTPOCHUS.

MampHbl 3TOr0 THMNA HMMEKT OYEeHb MACCHUBHYIO KOHCTPYKLHIO, HO OHH
CKOHCTPYHPOBaHbI TAKUM 00pa3oM, YTO MU MOXKHO YNPABJIATh TaK e JEeTKO, KaK
Y MalIMHaMU MEHBIIUX Pa3MEpPOB.
OHM TIUOPABIMYECKH  YOPABISIIOTCA M YOPABISIIOTCA  OJHUM  pblYarom,
pacnoJIOKEHHBIM Ha MEpeJHEd YacTH MAalIuHbBl. OTOT OJUHOYHBIA pbIYar
KOHTPOJIUPYET Bce (YHKIMU MAalIMHBl BKJIIOYas BCE JBUKEHHS CKOJIbKEHUS
KoJieca, MOMepeYHoN M01auu, HAUMHATh U OCTAHABIIMBATH PA0OTY IIMHHIES.
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[InuHaens Koneca yrnpapisieTCs KIMHOBBIM PEMHEM OT MOTOpPa PacloOKEHHOTO
Ha KPOHIUTEHHE Ha CKOJIbKEHHH KoJieca. IlomepeuHas mopada sl CKOJIBXKEHUS
KOJIeCa YNPABIAETCS TUAPABINYECKUM OJIOKOM.

['onoBka Koneca 3axaTa Ha BepxHeW mMoBepxHocTH Tabmuiel. [Ipu HacTpoiike
HIITM(POBATIBHOIO CTAHKA I'OJOBKA KOJIECA MOXET PEryJHpOBaThCS B MPOJIOJLHOM
HaIpaBJICHUU B COOTBETCTBUHU C JJIMHOM 3arOTOBKH.

1 2 |3 |4
b d |a |c
Bapuant 2
3aoanue

Karou k 3ajanusaMm:

1 2 3 |4 5 6 7 8 9 10 |11
j f k i

(o
bl
=
—
o
(@]
()

Ilepesoo cnos:

Mexanuueckuti, MexaHuzm, CReyuUaIucm, NPOMbIULIEHHOCMb, (a3a, MexHoI02us,
npoyecc, 1abopamopus, mecm, axm, asmomoOUb, UHICEHED, Memoo,
NPUHYUNUATIbHBLL, KOPPO3USL, MUN, MAamepua, KOM@GOopmHubiil.

ABTOMOOMJIbHOE IPOU3BOICTBO
1.CriennanucTsl aBTOMOOMIIBHOM [IPOMBIIIIJIECHHOCTH 3aHUMAarOTCsA
IPOEKTUPOBAHUEM U U3TOTOBJIEHUEM aBTOMOOWJIEH, IO3TOMY OHH JIOJKHBI 3HATH,
YTO MPOU3BOACTBO ABTOMOOMIISI BKJIFOUAET B C€0s1 CIENYIOLIUE ATAIIbI:
[IpoekTupoBanue,
Pa3paboTka TeXHOIOrMH MPOU3BOICTBEHHBIX MPOIIECCOB,
JlaGopaTopHble MPOBEPKH,
JlopoKHOE UCTIBITAHUE.
MaccoBoe Mpou3BOACTBO (M3rOTOBJICHUE).
2.3a4yemM HY>KHO 3HATh BCE ITU (HaKThI?
BaxxHO 3HaTh MX, TaK Kak MPEXIe YEM aBTOMOOWIIb (JIETKOBOM WJIM TPYy30BOH)
Oyner 3amylieH B CEpUHHOE MPOU3BOJCTBO, OH JOJKEH OBITh MPABUILHO
CIPOEKTHUPOBAH U COOTBETCTBOBATH COBPEMEHHBIM TPEOOBAHUSM.
3.KakoBbl 3T TpeOOBaHU?
ABTOMOOWJIb JTOJKEH 00J1a/1aTh BBICOKOM MPOU3BOAMTENIBHOCTBIO, JIUTEIbHBIM
CPOKOM CIIy>)KObI, 0€30MaCHOCTBIO BOXKIEHHUS, MPOCTOTONM OOCIYy)XHUBaHUSA H
HNPUATHBIM BHEIIIHUM BHJIOM.
Jis monmydyeHUss BCeX OTUX KayecTB HWHXKEHepaM HeoOXoIuMo pa3padoTarth
COBpEMEHHBIE METO/bI MPOEKTUPOBAHUS aBTOMOOWJIEH, MCHOJb3Yys] HOBBIC BHIbI
CTOMKHMX K KOPpPO3UHU JIETKUX MaTepuainoB. Takke BaXHO 3HaThb WMH(OPMATHUKY,
IOTOMY 4YTO OHa [peJHa3HAuY€Ha [UI COKpPALIEHUSI BPEMEHH MEXIY
IPOEKTUPOBAHUEM M TPOU3BOACTBOM. KoMmbroTepsl mpeiaratoT ObICTpble U
ONTUMAaJbHbBIE PEUICHHSI TPOOIIEM.
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Ho mnepen 3amyckoM aBTOMOOWJISE B CEPUITHOE MPOU3BOACTBO BCE €ro y3Jbl U
MEXaHHU3Mbl TOJBEPraloTCs HCIBITAHUSIM, CHadaja B 3aBOJCKON maboparopuw,
3aTeéM aBTOMOOWJIb MPOXOJUT >KECTKUHA KOHTPOJb KadyecTBa MpPH JOPOKHBIX
UCIIBITaHUSAX. TOJNBKO MOCI€ 3TOro0 aBTOMOOWJIb BBOJIUTCA B CEpUHHOE
IIPOU3BOJACTBO. 3ayeM HYXHbl 3TH TecTbl? Kakne kauyecTBa TpeOyrOTCS OT
aBToM0oOMI1? COBpEMEHHBIM aBTOMOOWJIb JOJKEH OBITH OBICTPBIM B pa3roHE,
UMETH IIJIaBHOE CLEIJIEHUE, OECIIYMHYI0 KOpOOKY mepezad, HaJe)KHbIE TOpMO3a U
pyJIEBOE YIIpaBJIEHHE, a TAaKXKE MPUATHBIN BHEIIHUN BUJ. Taxke OHa JOHKHA OBITH
y100HO! U UMETh Bce yA00CTRA.

1 123 |4 |5

d |e|c |a |b

IIpunooicenue 2. Knrouu k KOHMpOIbHO-0YEHOUHBIM CPeOCmEam Ois
NPOMENCYMOYHOU ammecmayuu

Bapuanr 1

Kurou k 3aganuam

1.

1 2 3 4 5 6 7 8 9 10 |11 (12 |13 |14 |15
n |g |b |f 0 |] k |c |d |e a |h i m |

2. IlepeBon cioB:
ABTOMOOMIIB, Kapkac. CIUOMETD, SJECKTPUUECKUN, CUCTEMA, [IWIUHAP, Kap/aH,
KOHTPOJIb, TUAPABINYECKHM, M€1alTh, BCIOMOTaTeIbHbIE YCTPOUCTBA,
nuddepennuar.
3. KOMIIOHEHTBI ABTOMOBWJIA
B ocHOBHOM, aBTOMOOWJIb COCTOUT M3 TPEX YacTEil: CUJIOBOM yCTAaHOBKHU, WJIU
JBUTATEINA, Iaccu W Ky3oBa. K HHMM MoOryt OBITh J100aBJIEHBI aKcecCyaphbl:
obOorpesareb, Gapbl, paguo, CIIUIOMETP U JPYTHE YCTPOUCTBA.
CunoBasi yCTaHOBKa WJIM JIBUTATENb SIBISICTCS HCTOYHHUKOM DHEPTHUH, KOTOpAs
3aCTaBIIIET KOJIeCa BPAIIAThCS W aBTOMOOWIb JBUTaThesa. OHA BKIIOUAeT B ceOs
DIICKTPUYECKUE,  TOIUIMBHBIC, OXJAKIAIOMME W  CMa304YHbIE  CHCTEMBI.
BONMbIIMHCTBO  aBTOMOOWJIBHBIX ~ JBUTATEICH WMEIOT IIEeCTh WA BOCEMb
IIUJTUHAPOB.
[ITaccu cocToUT U3 CUIIOBOM Ilepeladyu, paMbl C OCAIMH, Kosec U npyxuH. llaccu
BKJIIOYAET B C€0sl TOpMO3a M PYJIEBYIO CHCTEMY.
CunoBasi mepenaya HECET MOIIMHOCTh OT JIBUTATENsl K KoJiecaM aBTOMOOWIIS U
COZIEP)KUT CIICTUICHHE, KOPOOKY mepesad, KapJaHHBIA Baj WM KapJaHHBIA Ball,
nuddepeHran u KOHEYHYIO epeaqy.
MydTta cuemieHus TpencTaBIseT  coboW  (QPUKIIMOHHOE  YCTPOMCTBO,
COeNMHSAIONIee (MU Pa3beIUHAIONICE) KOJIGHYAThI Bajl IBUTATENS C IIECTEPHIMHU
B KOpoOke mepenad. OH UCIONIBb3YETCs JUIsi OCBOOOXKIIEHUS KOPOOKM Tepenad OT
JIBUTATEIIS U YIPABIISACTCS MEIATBIO CIICTICHUS.
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TopMosa SIBJIAIOTCS Ba)KHBIMH MeXaHuU3MaMu aBToMoOmisi. OHH HCIIOJIB3YIOTCH
JId 3aMCIJICHUA HMJIM OCTAaHOBKH aBTOMOOMISA. bBoapmmHCTBO HCIIOJIb3YCMbIX
CCroJlHA TOPMO3HBIX CHCTEM SBJIAIOTCA THUAPABIMYCCKHUMU. Onn YHPABIIAIOTCA
neaajb0 TOPMO3a. Korz[a BOAWTCIIb HAXMUMACT HA IICAdJIb TOPMO3ad, OHHU
IMPHUMCHSAIOTCA U aBTOMOOMJIb OCTaHABJIMBAETCS.

4. 5.

1 213 |4 |5
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Bapuanr 2

Kurou k 3ananusm:
Cranku

Mertat npoXoAuT psJl MPOLIECCOB, MPEXKIE YeEM OH (POPMHUPYETCS B TpeOyeMYIO
dbopmy: nUThE, MpPOKaTKa, CBAapKa, MpOKalbIBaHUE, OOpe3Ka, MpsiJeHue, TMoOKa,
BOJIOYEHUE U JIP.
CraHKM, BBIOJHSIONIME BCE 3TU BUJIBI pabOT, Ha3bIBalOTCAd cTaHKamMu. CaMbIM
pacrpoCTpaHEHHBIM  CTAaHKOM, BCTPEUYAIOIIUMCS  TMPAKTHUYECKH B  JIHO0OM
MacCTEpCKOM, ABJISIETCS TOKApHBIM CTaHOK. OCHOBHBIMHU €T0 YacCTSMU SIBJISFOTCS:
0a0ka, maTpoH, 3aaHss 6a0ka, KapeTka.
ABTOMATUYECKUN TOKApHBIM CTAHOK-3TO COBEPIICHCTBO OOBIYHOTO TOKAPHOTO
ctaHka. Ero HHCTpyMEHTBHI MEHSIOTCS aBTOMaTHdyecku. Pabouuii, ymeronui
MOJIb30BaThCSl TOKAPHBIM CTAHKOM, HA3bIBAETCS TOKAPEM.
EcTh MHOTO Apyrux CTAHKOB, KOTOpbI€ paOOTalOT Ha IJIOCKUX IMOBEPXHOCTSX,
HanpuMmep, (Gpe3epHble CTaHKW, IUIAHUPOBOUHbIE U (OPMOBOYHBIC CTaHKH.
KpyroBele oTBepCTHSI CBEPJISAT CBEPJs MAIIMHOW WM MPOOYPEHBI CBEPIUIHLHBIM
CTAHKOM WJIM CBEPJIWIbHBIM CTaHKOM. Pe3pOodpesepHble CTaHKU MPUMEHSIOTCS B
MIPOU3BOJICTBE PA3IMYHBIX DJIEMEHTOB CTAHKOB. 3yOOpe3HbIE CTAHKH BKIIOYAIOT
3y0odpe3epHble CTaHKU. Bce 3TH CTaHKU MCTHONB3YIOT PEXKYIIHA MHCTPYMEHT W3
OBICTPOPEXKYIIEH CTaITH.

Peiiku

CymecTtByer Tpu THUNA TOKAPHBIX CTAHKOB, MPOU3BOAMMBIX HAIIUMHU
CTAHKOCTPOUTEIbHBIMUA 3aBOJIaMH: TSDKEJIbIE, CPEAHUE W JIETKHE TUlbl. Tun
TOKAPHOT'O CTaHKA 3aBHCUT OT pa3Mepa AuameTpa 3aroTOBOK.
HanbGonee ynoOoHbIM U 3h()EKTUBHBIM CTAHKOM SIBJISETCS KOMOWHHUPOBAHHBIN
TOKapHBIM CTaHOK /JIi TOKApHOH, (pe3epHOM, CBEpIUIbHOM, HITU(OBAILHOM,
JOJOC)KHOW W WHCTPYMEHTAJIbHOW 3aTOYKU. Ero MOXXHO HCMOJIb30BaTh Kak B
CTallMOHAPHBIX, TAK U B MEPEBIKHBIX PEMOHTHBIX MAaCTEPCKUX, HA CyAaxX U JIp.

CBepiamiibHbIA CTAHOK

BonbnHCTBO CBEPIUIIBHBIX CTaHKOB OCHAIIIEHBI MEXaHU3MaMH,
MO3BOJIAIOUIMMH HE TOJIbKO CBEPJIUTh, 3€HKOBAaTh M Pa3BepThIBaTh, HO U pe€3aTh
BHYTPEHHHE PE3bObI C MOMOIIHI0 METUUKOB. CTPOSITCS KaK YHUBEPCAJIbHBIE, TaK U
CIelUAJIbHBIEC CBEpJIA TUIA "paguanbHble’.
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OTBeTHI:

1. Metal undergoes a number of processes before it is formed into the required
shape: casting, rolling, welding, piercing, trimming, spinning, bending, drawing,
etc.

2. The machines which perform all these kinds of works are called machine-tools.
3. The most common machine-tool found in almost any workshop is the lathe.

4. The main parts of it are: the headstock, the chuck, the tailstock, the carriage.

5. The automatic lathe is a perfection of the ordinary lathe.

6. A worker skilled in the use of a lathe is called a turner.

7. There are many other machine-tools that work on plane surfaces, for example,
milling machines, planning and shaping machines.

8. Circular holes are drilled by a drilling machine or bored by a boring machine or
a boring mill.

9. Thread milling machines are used in the production of different machine
elements.

10. There are three types of lathes produced by our machine-tool manufacturing
works: heavy, medium and light types.

11. A most convenient and efficient machine is the model combination lathe for
turning, milling, drilling, grinding, slotting, and tool-sharpening jobs.

12. The most drilling machines are equipped with mechanisms, permitting not only
drilling, countersinking and reaming, but also cutting female threads with the help
of taps.

Bapuanr 3

Karou k 3apanusim:

1.

1 2 3 4 5 6 7 8 9 10 (11 |12 |13 |14
f k I a b g C ] d I e h n m

2.I1epeBoj cIioB:
[unuaap, aBTOMOOUITE, OTPaHUYEHHE, IEHTP, UK ( €XaTh Ha BEJIOCHUIIEE),
KOMIIpECCHsi, Ta3.

3. JIBuraresnb

JIBuraTenb SIBISIETCSI UICTOYHUKOM SHEPruu, KOTOpas 3acTaBisieT aBTOMOOWIIb
NBUTAThCSA. Ero 0OBIYHO HA3BIBAIOT JBUraTEJIeM BHYTPEHHEIO CrOpaHusi, MOTOMY
4yTO OCH3MH CXKUTAETCs B €ro LWIMHApaX WM KaMmepax cropaHusi. boabmImHCTBO
aBTOMOOUJIbHBIX JBUTATENEH UMEIOT IIECTh UM BOCEMb LIUJIMHAPOB.
Pabounii UKIJI 4eTHIPEXTAKTHOTO JBUraTeNsl, KOTOPBIA MPOUCXOAUT B LUIMHAPE
JBUTATEJI1, MOXHO pPa3lelInTh Ha YEThIpE TakTa. BepXHWU mNpenen IBUKEHUS
IIOPIIHS HAa3bIBACTCA BEPXHENM MEPTBOW TOYKOW. HuKHMN mipenesn ABHUKEHUS
MOPIIHS HA3bIBACTCSl HWXKHEW MEPTBOW TOUKOM. XOI-3TO JIBWKEHHUE IOPILIHS OT
BEPXHEN MEPTBOM TOYKH K HHMXKHEW MEPTBOM TOYKE WJIM OT HUKHEU MEPTBOU
TOYKM K BEPXHEHW MEpPTBOM TOUKe. [[pyrumu cioBamu, MOPLIEHb 3aBEPIIACT XOJ
KaXbIi pa3, KOTr/a OH MEHSIET HAPABJICHUE CBOETO JBUKECHUS.
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Tam, Tie Bech UK COOBITHI B IMIUHAPE TpeOyeT YeThIpeX TaKTOB (Ba 060poTa
KOJICHYaTOr0 Bajia), ABUTATE]b HA3bIBAIOT YETHIPEXTAKTHBIM ILUKJIOM JBUTATEIIS.
YeTbIpe TakTa: BIYCK, CKATHE, MOIIHOCTH U BBIXJIOIL.

bbun Takke M3rOTOBIEHBI JBYXTAaKTHBIC JBUTATENH, U B TAKUX JIBUTATENSIX BECh
LIUKJ COOBITUH 3aBepLIaeTCs 3a JIBa TaKTa UM OJWH 000POT KOJEHYATOrO Baa.

Ha Takte Boycka BIyCKHOM KjamaH OoTKpbIBaeTcs. CMech BO34yXa U UCHAPEHHOTO
OeH3rHa ToJlaeTcs B IMIMHAP Yepe3 BIYCKHOM kianad. Ha TakTe cxxatus BXOJHON
KJIalmaH 3aKpbIT TakK, YTO CMeCh MOXXKHO 00xaThb. Ha TakTe cuibl o0a KiamaHa
3aKPBITHI JIJIsI TOTO YTOOBI MOJHATH AaBJICHHE BO BpeMs cropanus cmecu. Ha Takre
BBIITYCKa BBIITYCKHOM KJIallaH OTKPBIBAETCS, YTOOBI HCUEpIaTh

OCTaTOYHBIH ras.

4. 5.
1 12 |3 |4 |5 11213 |4 5
c |b |d |a |e al|lblalb d
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JIMCT U3MEHEHU U IOMOJHEHUH K KOMIUIEKTY KOHTPOJIbHO-0OLEHOYHBIX
CpeacrB

HononHenus u u3MmeHeHuss k komiuiekty KOC nHa y4eOHBIH TOa TIO0

JUCHHUIIIINHE

B xommiexT KOC BHeCeHBI Clie1yIole n3MEHEHUS:

Homnonnenus u u3meHenuss B Komiuiekte KOC o6cyxnaensl Ha 3acemanuu [ILHK

« » 20 r. (mpoTokoi No ).

IIpencenarens TTLK / /
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